
Equipment Guide
For

MVP2 Coolant Exchanger, PN E101-2378 (SN 687-2-01391 and up)
MVP 2-Tube Coolant Exchanger, PN E101-2378 (687-1 series and earlier)

R05		  ©copyright 2023 BG Products, Inc. • Wichita, Kansas 67213 • www.bgprod.com



		  ©copyright 2023 BG Products, Inc. • Wichita, Kansas 67213 • www.bgprod.com

MVP2 Coolant Exchanger
PN E101-2378 (SN 687-2-01391 and up)



E100-3332
 96 inches 3/8˝ 

clear vinyl spring hose

E100-4554
11/16˝ band 
clamp (17mm)

Wear safety goggles 
to protect your eyes.

Wear Nitrile,® Neoprene® 
or PVC gloves to

protect your hands.

Wear a long-sleeved 
shirt to protect

your arms.

WARNING! Hot coolant over 125°F (52°C) can cause severe burns instantly 
or even death from scalds. Hot vehicle cooling systems and this machine 
are under pressure. Opening a hot system can cause hot coolant to be 
forcibly spewed in any or all directions. Use EXTREME CAUTION when 
removing radiator caps and fittings. 

BG Products, Inc.
740 S. Wichita St.
Wichita, KS 67213 USA

PATENT PENDING 
MADE IN U.S.A.

SCLB-EN11 R01

Slip Hazard!

4 G

3 G

2 G

1 G

15 L

5 L

10 L

T1
USED
FLUID

DO NOT FILL ABOVE THIS LINE

Gasoline
•Diesel

•Hybrid
•Electric

E101-3461
MVP cone peg

E101-2459
Coolant gauge
panel assembly

E101-2456
-32 fill cap assembly

E101-3736
2 inch fill cap 
strainer adaptor
E101-3460
Screw, SHCS,
1/4 - 20 x 1 

E101-2382
coolant support bar

E101-2318
5.75 ID x 47.5
fiberglass tube

E101-2417
Double 3/8˝ hose 
clamp x 1˝ rod mount
E101-2685
1/4 - 20 x pan 
head screw

E101-2461
2-tube coolant 
bottom assembly

E101-2590
1/2  -13 x 1˝ 
flanged hex bolt

SCLB-EN10
Graduated label

for MVP2 T2

SCLB-EN11
Safety label for MVP2 machine

SCLB-EN24
Label for MVP2

 gauge panel-valve

SCLB-EN09
Graduated label

for MVP2 T1

E101-2364
O-ring, Buna, -361 
(5.975 ID x 0.210)

E101-2364
O-ring, Buna, -361 
(5.975 ID x 0.210)

E101-2404
O-ring, Buna, -932 
(2.337 ID x .118)

E101-2388
MVP dispenser head

E101-2643
Oetiker clamp, 

14.5mm to 17mm

G SERVICE INSTRUCTIONS
http://bgfor.me/mvp2ref 

SCLB-EN24 R01

G

V

E EMPTY

S SERVICE

OFF

		  ©copyright 2023 BG Products, Inc. • Wichita, Kansas 67213 • www.bgprod.com

MVP2 Coolant Exchanger
PN E101-2378 (SN 687-2-01391 and up)

REPLACEMENT PARTS



E101-2458
Coolant HP 
regulator
assembly

E101-2457
Coolant LP 

regulator
assembly

E101-2601
Regulator, 
precision 

(0.75-30 PSI)
1/4 NPT, w/ 

embedded gauge

E100-3503
Gauge, 1/8 MNPT x 
1.5 dial, 0-100 PSI

E100-3581
1/4˝ MIP x 1/4˝  
double elbow

E101-3693
Nut, 1/8 -14 
UNF-2B x 1/2 
THK steel, zinc

E101-2406
Vacuum generator 
1.0 mm nozzle

E100-6920
Back-up washer

E101-2547
Nut, 4-40, nylon 
insert, SS

E101-2545
BHSCS, 4-40 x 
1-1/4  SS

E101-2466
2-tube coolant 
gauge panel

E100-8964
10-32 stainless 
steel Nylock nut

E101-2623
MVP gauge

assembly 

E101-2370
Gauge, 30 IN/
HG to 60 PSI, 
2.5  x 1/4 NPT 

panel mount
 

E100-5634
1/4  brass 
street 90 

short

E100-6080
9290 pressure 
release button

E101-2302
1/4 MIP x 1/4 
push-in, nickel

E101-2604
Screw, BHSCS, 

10-32 x 1/2 cres

E101-3236
Nut,1/4 x 20

clip on barrel

E101-3446
MVP console

ball valve

E100-3589

E100-3588
1/4 MIP x 1/4 
push-in elbow

E100-4866
Regulator,
(9210 & 9220)

E101-3545
Replacement 
tubing
10´roll 1/4˝ 

E101-3075
1/4 FNPT 

90° bulkhead

E100-2567
Check valve
1/4 MIP x 1/4 tube

E100-3691
Tube, 1/4˝ OD

x .035˝ wall 
thickness, x 

25´ roll, nylon 

		  ©copyright 2023 BG Products, Inc. • Wichita, Kansas 67213 • www.bgprod.com

MVP2 Coolant Gauge Panel Assembly
PN E101-2459 (SN 687-2-01391 and up)

PLUMBING



		  ©copyright 2023 BG Products, Inc. • Wichita, Kansas 67213 • www.bgprod.com

MVP 2-Tube Coolant Exchanger
PN E101-2378 (687-1 series and earlier)



		  ©copyright 2023 BG Products, Inc. • Wichita, Kansas 67213 • www.bgprod.com

MVP 2-Tube Coolant Exchanger
PN E101-2378 (687-1 series and earlier)

REPLACEMENT PARTS

E S

G SERVICE INSTRUCTIONS
http://bgfor.me/mvpref 

EMPTY SERVICE

SCLB-EN08 R01

Wear safety goggles 
to protect your eyes.

Wear Nitrile,® Neoprene® 
or PVC gloves to

protect your hands.

Wear a long-sleeved 
shirt to protect

your arms.

WARNING! Hot coolant over 125°F (52°C) can cause severe burns instantly 
or even death from scalds. Hot vehicle cooling systems and this machine 
are under pressure. Opening a hot system can cause hot coolant to be 
forcibly spewed in any or all directions. Use EXTREME CAUTION when 
removing radiator caps and fittings. 

BG Products, Inc.
740 S. Wichita St.
Wichita, KS 67213 USA

PATENT PENDING 
MADE IN U.S.A.

SCLB-EN11 R01

Slip Hazard!

4 G

3 G

2 G

1 G

15 L

5 L

10 L

T1
USED
FLUID

DO NOT FILL ABOVE THIS LINE

G
a
s
o
lin

e
 • D

ie
s
e
l • H

y
b
rid

 • E
le

c
t
ric

SCLB-EN09  ROO

4 G

3 G

2 G

1 G

15 L

5 L

10 L

T2
NEW

FLUID

SCLB-EN10  ROO

M
u
lt

i-V
e
h

ic
le

 P
la

t
f
o
rm

E101-2388
MVP dispenser head

E101-2459
Coolant gauge
panel assembly

E101-2456
-32 fill cap assembly

E101-2404
O-ring, Buna,-932 
(2.337 ID x .118)

E101-2382
coolant support bar

E101-2318
5.75 ID x 47.5
fiberglass tube

E101-2417
Double 3/8˝ hose 
clamp x 1˝ rod mount
E101-2685
1/4 - 20 x pan 
head screw

E101-2461
2-tube coolant 
bottom assembly

E101-2590
1/2-13 x 1˝ 
flanged hex bolt

SCLB-EN10
Graduated label

for MVP T2

SCLB-EN11
Safety label for MVP machine

SCLB-EN08
Label for MVP 

gauge panel-switches

SCLB-EN09
Graduated label

for MVP T1

E101-2364
O-ring,Buna, -361 
(5.975 ID x 0.210)

E101-2364
O-ring,Buna, -361 
(5.975 ID x 0.210)

E100-3332
 96 inches 3/8˝ 

clear vinyl spring hose

E101-2643
Oetiker clamp, 

14.5mm to 17mm

E100-4554
11/16˝ band 
clamp (17mm)



		  ©copyright 2023 BG Products, Inc. • Wichita, Kansas 67213 • www.bgprod.com

MVP Dispenser Head
PN E101-2388

REPLACEMENT PARTS

E101-2656
1/8˝ NPT combo
gauge, back port  

E100-3433
Tube, 3/8˝  x 1/4˝ ID,
white, polyethylene 

E100-3864
3/8˝ MIP x 3/8˝ 
push-in straight  
E101-2646
3/8˝ NPT street tee 
x 1/8˝ FNPT  

E101-2386
Valve stem, 
coolant handle

E101-2438
Coolant dispenser, head 
 

E101-2389
O-ring, Buna, -107 
(.206 ID X .103)  

E101-2420
FD01, coolant cone 

E101-2421
Lock plate for 

dispenser button

E100-7003
O-ring, buna, -110 

(.362 ID X .103)

E101-2449
Coolant dispenser 

buttons

E101-2610
FD02, coolant cone

E101-2440
Coolant 

dispenser, grip

E101-3161
FD03, coolant cone

E101-2619
Retaining ring 5/8˝ 

inverted external

E100-9432
O-ring, Aflas, -109 

(.299 ID X .103)

E101-2760
MVP spring, conical

E101-2418
Plug, -5 morb, Buna

E101-2488
Barb, 3/8˝ MNPT x 3/8˝  

hose barb, Delrin

E101-2487
Screw, 10-24 x 5, 
phillips flat head



		  ©copyright 2023 BG Products, Inc. • Wichita, Kansas 67213 • www.bgprod.com

MVP 2-Tube Coolant Gauge Panel Assembly
(687-1 series and earlier)

PLUMBING

E101-2458
Coolant HP 

regulator
assembly

E101-2457
Coolant LP 

regulator
assembly

E101-2601
Regulator, 
precision 

(0.75-30 PSI)
1/4˝ NPT, w/ 

embedded gauge

E100-3503
Gauge, 1/8˝ 
MNPT x 1.5˝ 
dial, 0-100 PSI

E100-3581
1/4˝ MIP x 1/4˝  
double elbow

E100-3581
1/4˝ MIP x 1/4˝  
double elbow

E101-3693
Nut, 1/8˝-14 
UNF-2B
x 1/2˝  THK 
steel, zinc

E101-2406
Vacuum generator 
1.0 mm nozzle

E100-6920
Back-up washer

E101-2547
Nut, 4-40, nylon 
insert, SS

E101-2545
BHSCS, 4-40 x 
1-1/4˝ SS

E101-2466
2-tube coolant 
gauge panel

E100-8964
10-32 stainless 
steel Nylock nut

E100-3292
1/4˝ push-in tee

E100-3640
2-way MVM 

12 switch

E101-2623
MVP gauge

assembly 

E101-2370
Gauge, 30 

IN/HG to 60 
PSI, 2.5˝ x 1/4˝ 

NPT panel 
mount

 

E100-5634
1/4˝  brass 

street 90 short

E100-6080
9290 pressure 
release button

E101-2302
1/4˝ MIP x 1/4˝ 
push-in, nickel

E101-2604
Screw, BHSCS, 

10-32 x 1/2˝ cres

E100-3589

E100-3589

E100-3589

E100-3589
1/8˝ MIP x 1/4˝ 
push-in elbow

E100-3588
1/4˝ MIP x 1/4˝ 
push-in elbow

E100-4866
Regulator,
(9210 & 9220)

E101-3545
Replacement 
tubing
10´roll 1/4˝ 

E100-5634
E100-2302



		  ©copyright 2023 BG Products, Inc. • Wichita, Kansas 67213 • www.bgprod.com

MVP Bubbler Retrofit Set
PN E101-3685 (687-1 series and earlier)

E101-2302
1/4 MIP x 1/4 
push-in, nickel

E101-3075
1/4 FNPT 

90° bulkhead E100-2567
Check valve
1/4 MIP x 1/4 tube

E101-3683
1/2˝ FNPT 

coupling, brass

E101-3684
Adaptor, 1/2˝ MNPT 
x 1/4˝  MNPT brass 

E100-3691
Tube, 1/4˝ OD x 
.035˝ wall thickness, 
x 25´ roll, nylon



		  ©copyright 2023 BG Products, Inc. • Wichita, Kansas 67213 • www.bgprod.com

MVP2 Coolant Exchanger
PN E101-2378 

INSTRUCTIONS

Scan this code or visit
http://bgfor.me/mvpref

to access service instructions.
This code can also be found

on the serial plate.


